B =1\ AT IR B 6 i ok L

26 &

29 §i

20 i H

7H11 H

75 BEERR
4 R SPGB (225 Kt 1 » 4x25 RET R J1_& 1 ~ 4x50 RN )y ~ ey 4x25 K p ki )y)

58 A2&

PECEE (B3

A | BEE s ke ()
HEEC 5k (B )
SHBRE [25REmaEEh) (51 6) 2x25 FVFHTEE 11 (572 ¢)

A6 ECRE 25 RS @Reh) (572 £)

BEARE |25 K prige (5Y £ 25 1] (DQ)

A7 PRESE |25 K (5Ypa ) 25 ] (DQ)
PEF |25k i (- )

PR 25k prpige (0= £

A8 ! I%}igﬁ 25 K FIpinge (534 &)

A9 AR 25k Frifie (DQ)

ALO BT [25 K F i (972 )

ZREE |25 K205 32D)

AL TFEES (25 F Fipinge (372 #) 25 e (3% £)
BIRY ok (5 £ |80 F iR (912 £)

AL3 | [RATE s ke (e

Bl Milan 25 KW ) (37 &) 2x25 FFHE T (372 £)
[ [25 el (57 &)

B 2R (DQ)

B2 | ML |25 ks (e 25 F 1] (FY2 &)

S |25 Ky (312 &)
BLZEE |50 £ Fip g (DQ) 100 F fiid * P (33 €)
a3 TRRIZY |25 piphwe (57— £) B0 “f F Il (FIM €))
PN (25 K Free (312 ) 25 f bR (51~ €))
PR (25 K FIpnge (37 €) 25 F i (37~ &)
B3 P Bl |25 kiR rEn)
[PIEIE sk pipne kMO F 2
PREETS |25 K Frpnge (372 £)

B4 | FiRIH 50k pipeE (57 ¢) 50 f fiife (37 £))
WRIFH [ ppwe (972 1) |25 K (5 &)
HZA (25 K P (312 € 4x25 F I (EYpU )

B5 P[5k fren (7 £
PREEE |25 KA () *[RIEE I 2
Shayan |25 K Fiflie (37— &) 25 £ P (37~ §)




50 F [ I 1 (577 )

50 F]¥ (317 £))

FIEUE 100 FIpn (33~ 1) [100 FEi (372 €) 4x50 K FIFHZS 10 (372 )
ng LT s ke (1 £)
SIS (25 ke (i e 50 K F IR (57 €)
STHENS  [25FFIpnge 25U kPIEIHIF goeE
ISHEGE |50 F Frpivge (372 &) [BOFF]HE (31 £)
a7 FEBubs  [50 i (57 £) 50 K F7 (31 £)) i £ 425 o I (517 6)
FETU 25 RPAA)  k TR E RS > PO LR 5
IRAPED 25 K F g (3YF ) 25 K P (317 §) A4x25 I 10 (977 4)
'f:f%‘: 25 K Frptgs (B3 £)) 25 i (57~ £)) 4x25 K FIIEEE ] (53049 E)
B8 |  FIY  [5msEsh)  kPOE R
SRS S0k pipne (17 ) B0 (35 £)
WERER |25k pipe G E) |25 g (BN ED 4x25 f FIFIZSH )0 (5104 4)
810 B |25k e (e 25 Ui (170 £)
U R ST I ) Ax25 F IS (312 #)
FVEEEW] (25 e (357~ ) 100 “f e (BT €))
811 [P |25 F e (33 &) 50 F FIfl i (37 #))
BN [50 K Fipng (v £ [100 K77 (3VE £) x50 F I (32 #)
GRS |50 K Fiphie (37 £ 100 F ffit * pUzt (VM E) 4x50 [ I (52 8
:FE[I P 25K Frme (372 £) 25 F iy (37= &) 4X25 K FIEIFE ] (BT e
m1p Lo 25 F i (DQ) 25 it (97 ) 7 25 F I ] (577 8)
&N 50k FipnE 50KERE ok NEIET RS
BV s kppne (ot ) (S0 KF IR (BT §)
PR R (W) 25 “f ke (215 £)
B13 | SAHT |25 (352 8D |25 F e (51098 ax25 F I E ) (5Y2 &)
ARLEE |25 % Fipnge (3770 £) 25 b (57~ )
ISIESE 50 FIpmgs (272 £)) 50 K i (377 &) 4x50 F FIFI=S 10 (272 )
I (25 F g (37 €D
g | PR s gy O ) s ke (3 6)
R[S0k P (3 f) |50 (97 £)
T 25K P (312 8D 25 K771 (37 € Ax25 F IS (512 #)
RN (25 RS EY) kTR E RS o P TG R




